
Sample question paper of SOFTWARE PROJECT MAMANGEMENT 

Q1. The process each manager follows during the life of a project is known as 

A. Project Management 

B. Manager life cycle 

C. Project Management Life Cycle 

D. All of the mentioned 

 

Q2. What is the process each manager follows during the life of a project is known as 

A. Project Management 

B. Project Management Life Cycle 

C. Manager life cycle 

D. All of the mentioned 

 

Q3. Which of the following are parameters involved in computing the total cost of a software development 

project? 

A. Hardware and software costs 

B. Effort costs 

C. Travel and training costs 

D. All of the mentioned 

 

Q4. Which of the following is a systematic attempt to specify threats to the project plan? 

A. Risk identification 

B. Performance risk 

C. Support risk 

D. Risk projection 

 

Q5. Why is decomposition technique required? 

A. Software project estimation is a form of problem solving 

B. Developing a cost and effort estimate for a software project is too complex 

C. All of the mentioned 

D. None of the mentioned 

  

Q6. Which of the following is a project scheduling method that can be applied to software development? 

A. PERT 

B. CPM 

C. Both PERT and CPM 

D. CMM 



 

 

 

Q7. A process that involves continuously improving and detailing a plan as more detail become available 

is termed as 

A. progressive elaboration 

B. project analysis 

C. project enhancing 

D. progressive deliberation 

 

Q8. Which from the following represents the correct project cycle? 

A. Planning→Initiating→Executing→Closing 

B. Planning→Executing→Initiating→Closing 

C. Initiating→Planning→Executing→Closing 

D. Initiating→Executing→Planning→Closing 

 

Q9.  A horizontal bar chart that shows project tasks against a calendar is called 

A. milestone 

B. goal 

C. Gantt chart 

D. PERT chart 

 

Q10. If the Earned Value is equal to Actual Cost, it means: 

A. Project is on budget and on schedule 

B. Schedule Variance Index is 1 

C. There is no schedule variance 

D. There is no cost variance 

 


